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ECONOMICS
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Paper : 1.2

( Macroeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Ansv&er the rfollowin.g questions : | 1x 10=10
(@) What is meant by aggregate demand?
R v A R 2
(b)) What is Net National Income? -
um wON oY i & 3@ ?
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(2)

(c) What is the relation of National Income
with Economic Welfare?

SO S HYLATE FeR TS S R 2

(d) Define effective demand.

Sfery iR ke |

(e) Give the meaning of autonomous
investment. .

ﬂﬁﬂﬁﬁm«\ﬂe{ﬁm

()  What do you mean by paradox of thriftp
T 2T WA 2

(g) - State Keynes psycholog[cal law of
consumption.

@Qﬂamﬁwm@%mﬁﬁﬁww,

() What is meant by MEC (Marginaj
' Efficiency of Capltal)?

T 2fifee el e R e e
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(i) Give the meaning of ﬁ.lll-employment
ofef-fcaeR =g o |

() Outline the meaning of acceleration
principle.

39 T (F1 wg) =L ﬁan L

2. Answer the following questions :  2x5=10
o TR Teq fora

(@) Which economist propounded the
principle ‘supply creates its own
demand’ and what does it mean?

R QT ot e o Aok
1 (Supply creates its own demand)."
M e SRR a[T 2:fs W Ll
R g 2

() What are the determinapis of effective
demand?

Wﬂﬁ‘iﬁﬁiﬂﬁmﬁﬁ?
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(4

(). Give the difference between induced
investment and autonomous invest-

~ ment.
T RNae e wRm RRaes
(1 2enfre) e “nel crye |
(d How can you explain the statement
MPC + MPS = 1?
MPC+MPS=1 & MR @WF @@

Mo

(e) Give two assumptions of multiplier

theory.
STF O 01 i o 1
3. Answer ‘any  four from .the following .
questions ;- - e - 5x4=20
SR e Wi e Tt ot -

(a) DiscusS brieﬂ&r the circular flow of

Y

‘Acome in a two-sector economy.

RIS W g ¢ 1 TERR R
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(b)

()

@

(e)

8A/364

(S)

Outline the problems of National Income
Computation in developing countries.

TR (PPTZS WO S SR TUPRES
e

Discuss the basic features of Keynesian
consumption function.

me—mwwhﬁ?@aw
1

What is meant by investment
multiplier? Explain its relationship with
marginal propensity to consume.
RcmEs o= T R2 e @ eRTeR
FTS R TR T 91

Give an idea of the factors affecting
consumption function.

Toers FoMS ACR (AR %"nwsgauﬂ%l
wrept

‘Write brief notes on the different types

of investment.

Rivamer Rive o3 Rew 57 Gt foran o
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4. Answer any four of the following questions :

(6)

10x4=40

oo R lee o161 2 Ty o

(a)

)

()
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What is National Income? Give a
comparative analysis of the various

" methods of computing National Income

with their merits and drawbacks.
2+4+4= 10

O o oA & 7 FOW S I $9] Rfew

NGRR BT TAEE RO ST A
@9 O el |

Discuss fhe theory of effective demand

‘as put forward by Keynes. 10

Q% SR e SN ST SCEADAl

Al

Give the main features of classical
theory of employment.. What are its
drawbacks? S5+5=10

AR e vehr g4 [RERR R
TR Mrwernz B 7
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(7)

(d) Define the concept of marginal efficiency
of capital (MEC). Explain the factors

affecting MEC. 4+6=10
IR AR e e a1 T A
TAMPTIR I 0 |

(e) Explain the working of the multiplier
with the help of a table. Give two

limitations of this principle. 8+2=10
@ FHFRC SR e Jax | @)
N 751 e o |

() What are the assumptions of
acceleration principle? Write a note on

its working. 2+8=10
w9 A SRYRIER B & 7 TR IR Rea
<o mﬁm!
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